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INSTRUCTIONS: This paper has 25 questions. 1 — 23" are multiple choice questions and
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1. Which of the following molecules moves regularly from the nucleus to the cytoplasm and from
cytoplasm to nucleus?
a. RNA and Proteins

b. RNA and DNA
¢. Ghlucose and RNA
d

RNA and Cholesterol i

2. Which of the following is notthe correct pairing of structure with function?
a. Mitochondrion : synthesis of ATP
Golgi complex: breakdown of complex molecules

b
c. Endoplasmic reticulum : synthesis of proteins
d

Peroxisomes : breakdown of glycolic acid ‘

3. The given diagram in your right depicts the cross section of
plasmodesmata. What is the correct sequence of names of the
numbered labels in the diagram?

a. desmotubule, Endoplasmic reticulum, plasmalemma, central
" rod, central cavity
b. Endoplasmic reticulum, desmotubule, plasmalemma, central
cavity, central rod
¢. Endoplasmic reticulum, plasmalemma, desmotubule, central
cavity, central rod '
d. Endoplasmic reticulum, desmotubule, plasmalemma, central
rod, central cavity




Registration NUMbBEer: ... e mranens

The most frequently found polymer in the plant secondary cell walf is .
a. Cellulose c. Lignin : 4
b. Suberins d. Chitins

What is the correct match of the molecular structure and analogous function of the following
metabolites? _ '
128,22C3>A,4>E5>D c. 12B,2>C32>A,42>D,5>E
128,22A,32C42>E5>D d. 12D,2>C32>A42E5>8B.

Structure

CH,0H

Function |
A-DNA  B-Honey C Plasmalemma D — Chlorophylis
E — integral protems

in an experiment to determine the effect of watering on a plant species two leaf samples of

known weight of the watered and non-watered plants were oven dried in 80° C for 72 hours.

What are the parameters that can be calculated to determine the effect of watering on plants?
a. Carbon content ¢. Rate of transpiration
b. Loss of weight ' _ ~ d. Relative water content

&

Whlch of the following best explains the osmosis?
a. Movement of water from the low concentration to high concentratlon 7
b. Movement of solute molecule across the concentration gradient
c. A movement of solute maolecules across a differentially permeable membrane along the
concentration gradient of solute molecule.
d. A diffusion of solvent molecules that takes place through a semi-permeable membrane




8. Which of the following would have the least contribution to the process by which water moves
through a root?

a. Active transport ' c. [Imbibition 8
b. Diffusion d. Osmosis

9. Water potential measures the tendency of water to

a. Move from one place to- ¢. Condense 9

another » d. Kinetic energy
b. Evaporate

10. What is the pressure potential of a cell (water potential: .= -30 Mpa and solute potential: ;=
-25 Mpa) which is being equilibrate in the sucrose solution with solute potential of -10 Mpa.

a. 10MPa c. -I5MPa

b. 30 MPa d.- 15MPa 10

11. What is the best match that gives correct expression (in the right textbox) for following terms in
the left textbox? '

A, total soil water - (gravitational
water + hygroscopic water)

I.  Field capacity B. field capacity - permanent wilting
II.  Permanent wilting percentage percenfage '
III.  Available water C. total soil water - (gravitationa!

water + capillary water)

a. 12CI>AN1>8 o IDCGHYB MDA [ 1

b. I2A1>C->B d I2AI1=>B8->C

12, The root hair zone is
a. Having dense cytoplasm hence restricts nutrient absorption
Placed between functional xylem region and meristematic region of the root tip

b
c. Present in the region with functional xylem 12
d

Having hypodermis underneath

13. Which of the following pathways of water movement has the least contribution for water
uptake?
a. Cell wall > plasma membrane - tonoplast 2 vacuole = tonoplast > plasma
membrane = cell wall

b. Cell wail 2 plasma membrane = cytoplasm = plasma membrane -> cell wall 13
Cell wall = intercelular spaces = cell wall

d. Intercellular spaces - cell wall > plasma membrane = cytoplasm - plasma
membrane > cell wall > Intercellular spaces
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22. Phloem always move material from a

a. Sugar source to sugar sink c. Root xylem to phloem -
b. Sugar sink to a sugar source d. Leafcells to rootcells
23. Active loading of sugar into a sieve tube is probably driven by
a. Gravity c. Transpiration
b. Water flow d. Proton pumps 23

Questions 24 and 25 are based on the following diagram. Write your answer in the box given
opposite to the question

24. Identify the above diagram and briefly write on the function of it.

25. Identify the indicated parts in the above diagram and write the names in front of each number
below.

Numbered Name of the part
 part
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